HADEMERE

2050 FENDBEENAAIRAIRILT—

2 = 4 o 24 ek Bt g A o 2
RRKFERFREEFENE FHER

N2



w
|

X35
N

19614F|

0

SPEEEEAOOEEM

1960 1970 1980 1990 2000



X35

19614F|

OB IGEIREEIR

T HIY
> i

1960 1970 1980 1990 2000



IV RIZHETHINEZERIINDEE

8 —

HIY (t/ha)
AN (@)

N

”oo.

0
1800 1850 1900 1950 2000 2050



HFEICANGNAIBRMERES—IL

10

X9 Db
(@))

19614

1960 1970 1980 1990 2000



X35

19614F|

10

REDEEEEKEEIR

AR
AR

1960 1970 1980 1990 2000



B ARYHERR

8
~6
4
>
15 4 B Z D1
i, | D
i

0

1960 1970 1980 1990 2000



SN

X35
N

19614F|

0

w
T

BREEEEAOOEMD

CRAEER

000
OO0
OO0
OO0
OO0
OO0
00.°
.........
OO0
OO0
00000
0..
L OO

1960 1970 1980 1990 2000



300

(10075 t/4E)
N
S

AR
S

0

1960

BABEREES

1970

1980

1990

2000

=2 oo
Sp
=%
-




ZEXEMNERE EXREECHRERE)

100 r
~
Y 80
N\
o’
R 60 L+ FRK
(@) Da—n » /{)
Z 40 7
i BZ D
8 20
0

1960 1970 1980 1990 2000



P (t/ha)

ERTRAELRVEIN

0 100 200 300
ZEREEL (kg/ha)



ERA NS

BEAOZE

1.0

0.8 |

0.6 |

0.2 |

0.0

4
Vﬂﬂﬂﬂ

—H—T TR
—8— HAK

—Jd— A FUR
—— T AUA

A

§1|2 “|:|

‘‘‘‘‘
lllllllllll

1800

1850

1900

1950

2000

2050



— ANHT-UGDPLEEAEFEZEDGDP
ICHOHSEISDREERFE (20044)

EREEETE

o
o
'_\

0,001 L— v vviiiw v v N
10 100 1000 10* 10°

—AN¥%7-9GDP (US$)



BREEE (L. PLRRAITHEH)

(fBt/5E)

AEE

8 —

(@))
I

0

— 4
mmy

+
57
=

<FIRFI=FI<F

1960 1980 2000 2020 2040



(fBt/5E)

mER

R DN H

=
==

SO NN BB OO O
T T T

1960

1980 2000 2020

2040

D&Y



INAFARRAIRILE—0 R ¥ H (i
& &R R4S D LB

800
> 600
N\
A *
< 400 =+ )X— AJH
ﬁ Dl VA = e G
E 200 oY hUXE

0
1960 1970 1980 1990 2000



